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H: ﬁ_'ﬂa;
X+ 3%+ 8x+ 12 X =127 + 27x+ 40
3x° — 11x* — 62x — 56 X — 9% — 12x+ 160
28x° — 269x% + 378x — 144 CHdx-5
X — 13x% + 46x — 48 6x° + 47x% + 35x
¥ = 12:% + 48x — 64 2% + 4y
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AMH:

X+ 3%+ 8+ 12
(x+ 2)(0% +x+ 6)

3¢ — 11x> — 62x — 56
Gx+ D — 7)x +2)

28x> — 269x% + 378x — 144
(4x — 3)(x — 8)(7x — 6)

x> — 13x% + 46x — 48
(x—2)x—8)(x—3)

X — 12x% + 48x — 64
x—dHx—4Hx—4)

f&iep:

X — 12%° + 27x + 40
x—=5x—8)(x+1)

X —9x? — 12x+ 160
(x+4)(x—5(x—198)

¥ +4x—5
(x— DEE +x+5)

6x° + 475 + 35x
x(x+ 7)(6x +5)

27 + 4x
2x(x+ 2)
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